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def train model (model, train dl, valid dl, criterion, coptimizer,

scheduler=None, num epochs=10):

if not os.path.exists('models'):

os.mkdir ('models")
since = time.time ()

best model wts = model.state_dict{)

best acc = 0.0

for epoch in range (num_epochs) :
print (*Epoch {}/{}'.format(epoch + 1, num epochs))

print{'-" * 10)

## train and walidate
model = train one epoch(model, train dl, criterion, optimizer, scheduler)

val acc = validate model (model, wvalid dl, criterion)

# deep copy the model
if val acc > best acc:

best_acc = val_acc

best model wts = model.state_dict{).copy{)l

torch.save (best model wts, " /models/epoch—-{}-acc-{:.5f}.pth".format (epoch, best acc))
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L(a,p,n) = max(llf (a) — F®II* = lIf (@) — fF@I|* + a,0)

d(a,p) = d(a,n)
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Dissimilarities: (0.92, 1.68)
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